o(1 jet)/o(inclusive)

Ratio to ALEPH

H
H
o <

=

H
ST
S

0.5

200 GeV ee y*/Z (HadronI C)
== T | T T T T l -=
= " =
;? —z"-":?‘ _é
E m ,—/‘?:‘?:,?:’?— s E
= m ALEPH i E
C Pyghia 6.428 350" —
= .- Pythia 6.428.351 =
L - ¥~ Pythia &428 352 —=
= 4 Pythia6:428 353 =
= -o-- PyiHia 6.428 354 =
= -+ Pylthia 6.428 355 =
=~ o Pythia 6.428 356 5
= Pythia 6.428 357 -
= Pyithia 6.428 358 E
[ --=-- Pythia 6.428 359 —
S S S S, =

1 1 | 1 1 1 | 1 1 1 | 1

-0.4 -0.2 0

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


